121/Eco UG/1st Sem/ECOP-CC-T-1/21 d) State two cases when the law of demand is

violated.
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f)  What will be the elasticity of demand when the

The figures in the right-hand margin indicate marks. )
shape of demand curve is rectangular hyperbola?

Candidates are required to give their answers in

their own words as far as practicable. I Bifew @ AASCHGE 217198 T O A5
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1.  Answer any ten questions: 2x10=20 g) Write any two assumptions of Perfect
-l TS 2re Ted e 2 Competition.

a)  What do you understand by law of Demand? 74efet efSrapreTa et (- CRIeT! 76 St (o7

51wl oTa I R (i 2 h) Describe the law of Diminishing Marginal

Utility.

b)  What will be the sign of cross price elasticity if -
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the goods are complementary to each other?
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c) What is the shape of Indifference curve if two j)  What do you mean by Giffen Paradox?
goods are perfectly substitutes? iy 3 o
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What do you mean by Normal Profit?
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Define Iso-Cost curve.
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Differentiate between perfect competition and
pure competition market.
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Distinguish between short run and long run in
the context of production.
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Answer any four questions: 5x4=20
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Define indifference curve of the consumer.
Explain why indifference curve is convex to the
origin. 2+3
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What do you mean by marginal rate of technical

substitution between two inputs? How does it
determine the slope of the Isoquant? 2+3
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Answer any two questions:

Explain graphically, why does two isoquants

cannot intersect each other. 5
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Define price elasticity of Demand. Discuss any
two determinants of Price Elasticity of
Demand. 2+3
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What is the relation between Average Product

and Marginal Product of labour when total
product reaches at its maximum level? Explain

with diagram. 5
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Define consumer surplus and explain it

graphically. 5
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Differentiate between Break-even point and
Shut down point of production. Discuss how the
short run equilibrium is attained by a perfectly

competitive firm. 4+6
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Define price consumption curve (PCC). How
can you draw the demand curve of a commodity
from price consumption curve? 2+8
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A rational producer will produce at the second
phase of production — Discuss. 10
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What do you understand by Average fixed cost
(AFC)? Draw an AFC curve. Establish the
proposition that Long run average cost curve is
the envelope of all Short run average cost

curves. 2+2+6
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